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Question Number : 1 Question Id : 2549896235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Windows BT \Feaa ______ o =TT Em
Options:

1. # [BM

2. % Apple HE

3. % Wipro

4 % Microsoft

Question Number : 1 Question Id : 2549896235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Windows software was developed by

Options:

1. % IEM

= % Apple corporation
3. * Wipro

4. ¥ Microsoft

Question Number : 2 Question Id : 2549896266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e AT # nedew dTed @t HET AT &1

Options:

1. &

2. % FCAT AR T
3 % e

4 ® Hes

Question Number : 2 Question |d : 2549896266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Each box in a spreadshest is called
Options:

1. ¥ g cell

Z % an empty space
3. % @ record
4. % 3 field

Question Number : 3 Question Id : 2549896300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T o & @1 urerier At e

Options:

1. ¥ Iga® STTH T [FAM)
2 % 2 Eew

3. % HIET TR (CDROM)



4 % gE Zew

Question Number : 3 Question Id : 2549896300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which one of the following is a Primary Mermory?

Options:

1. ¥ RAM

2. % Hard disk
3. % CDROM

4. % Floppy disk

Question Number : 4 Question Id : 2549896345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

IS U 0-9 Talel Tl 1 @1 FaT HET AT 57
Options:

1. ® thepard T

o i

3. ® TEWIZIC H

4 % wae T &

Question Number : 4 Question Id : 2549896345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The keys labelled O t0 9 on the kevboard are called:

Options:

1. % function keys
2. ¥ numeric keys
3. #® typewriter keys

4. ® gpecial-purpose keys

Question Number : 5 Question Id : 2549896350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the name of secondary storage device.

Options:

1. ¥ Hard disk
2 ® RAM

2. % Microphone
4. ® EOM

Question Number : 5 Question Id : 2549896350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T o SR TEaTEd & AT & R @
Options:

1. ¥ g2 Eew

2. % oTgiae sETH T RAM)

3. % AEWIE



4, ¥ Fad UaHT T (FOM)

Question Number : 6 Question Id : 2549896498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T TATEE 4T 37

Options:

1. % ST e aTet T Jo0g we- G161 T 5ge 1Eared
2, ¢ TE=mée offe witere 3o0g @t & T 0 snaeye ey
3. % FET S UGN FA T UF o AT e

4 % 1 ATITYT W T

Question Number : 6 Question Id : 2549896498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& plotter is:

Options:

1. ® an input device to produce good quality graphics.
2. ¥ an output device to produce designs and graphics.
= ® a fast output device using carnera lenses.

4. % an output processing unit.

Question Number : 7 Question Id : 2549896212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Output made up of pictures, sounds and videos is called:

Options:

1. % CoM

2. % hard copy
% % graphics
4 multimedia

Question Number : 7 Question Id : 2549896212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

BT, TS Y AT & o UT3eye &1 727 FgT ST 27
Options:

1. % COM

o % TEET

= ® it

4 greHiTEaT

Question Number : 8 Question Id : 2549896232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

______ T TS I UTH £19T &, ST SfTer 1 gare & & T@ & o0 fe-Fe =1 #1 e § o wigat & awer—ang &7
TECATH &1 T8 T2 TUF 1 O SOa e (C1ai) FeaT 8l

Options:

1. % ceparm

2 % TZEw gdenT
3 feow ST




4 ® IR

Question Number : 8 Question Id : 2549896232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

______ 15 a Windows program that locates and eliminates unnecessary fragments and rearranges files and
unused disk space to optimise operations.

Options:

1. ® Backup

2. % Disk Cleanup

%, ¥ Disk Defragmenter
4. ® Restore

Question Number : 9 Question Id : 2549896245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TETSH T F1d T 57

Options:

1. % IEA, 2T E T AT B T 1 U Rear gt gl

o U WIEH, AERT B UF GUE &, TR e AW T AT § o Oy St Bui # e e gt A
% % UF WIEA, UF TTH FTOTE §id 1 5, AT a5 agTd 1 5 167 WA &1 &7 a1 =ie

4. ¥ wrEe Uw g (OEMS) gt #)

Question Number : 9 Question Id : 2549896245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhat is a file?

Options:

1. % 4 file iz a section of main storage used to store data.

2. ¥ 4 file is a collection of information that has been given a name and is stored in secondary memory.
3. % 4 file is the part of a program that is used to describe what the program should do.

4 % 4 file is 3 DEMS.

Question Number : 10 Question Id : 2549896352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
el oF e Toedl 1 ST AT aTaT AT 747 & 7o 0 w2 1 Hifgar # 227 e AT 27

Options:

1. % oA
2. ® ezt
3 % 2E

4.V qFT

Question Number : 10 Question Id : 2549896352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhat is the name given to a part of circle on which data is written in a storage media?

Options:

1. ® Spiral
2. % Cylinder
% % Head



4 % Sector

Question Number : 11 Question Id : 2549897555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TH | F I AT U 5 T2 aTEd TR 8e
Options:

1. % s dh 9w (OCR)

2 % affeda woT

3. % gleq e ZaEa

4 AEIeR o W] $eEy AEeqe

Question Number : 11 Question Id : 2549897555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is NOT an input device?

Options:

1. % OCR

2. % Optical Scanners

3. ¥ Voice recognition device

4 % Cormputer output to Microfilm

Question Number : 12 Question Id : 2549897563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TUAITRA T S T wipeera) & @t dar
Options:

1. % CD

= v %é O TFHIT 5 é (Certral Processing Urnit)
3 % @i giae
4. ® DVD

Question Number : 12 Question Id : 2549897563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
All the instructions from the users and various software are carried out by the " "

Options:
1. % CD

2. ¥ Central Processing Unit
2. % Storage unit
4 % DVD

Question Number : 13 Question Id : 2549897296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
oy 1t & 91T WY U 3e7 FAT TTgel WO ST 27

Options:
1. # FAT 18

2. % FAT 12
3. % FAT 32



4 ¥ FAT 24

Question Number : 13 Question Id : 2549897296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhich of the following is NOT a valid FAT file systermn?

Options:

1. % FAT 18
2. % FAT 12
3. % FAT 22

4. % FAT 24

Question Number : 14 Question Id : 2549898408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich function returns the arithmetic mean of all the cells in a range that meet a given criteria in MS Excel?

Options:

1. % AVERAGE function
2. % AVERAGEA function
3. % AVG A function

4. " AVERAGEIF function

Question Number : 14 Question Id : 2549898408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Exccel ® 1 AT Gerar Fo M0 Ae St & 07T S aner Anft 3 aedt A @7 St e 3T SaT 27

Options:

1. ¥ AVERAGE s
2. % AVERAGEA s
3 % AVG A T

4 % AVERAGEIF e

Question Number : 15 Question Id : 2549898663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A0 AT Few (OpenOffice Calc) # b BASE(L7; 10) T 97 3T 57

Options:
1. % 07
2 %17
3.9 17
4 % 017

Question Number : 15 Question Id : 2549898663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What will be the output for the function BASE(17; 10) in an OpenOffice Calc?

Options:
1. %07

2. % 17
3. ¥ 17



4 % 017

Question Number : 16 Question Id : 2549896275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ETOFEL o At STge ______ FEATAT 2]

Options:

1. ® Tt Ernaee
2. % S ZTaReed
2 ® gif ERptae
4. ¥ | ST

Question Number : 16 Question Id : 2549896275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A directory within a directory is called a

Options:
1. % mini directory

2. % junior directory
Z. % part directory
4 ¥ sub directory

Question Number : 17 Question Id : 2549896469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Two or more computers connected to each other for sharing information form a:

Options:

1. % Network
2. % Router
3. ® Server

4. % Clients

Question Number : 17 Question Id : 2549896469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AR AT el o ol U GEC & 33 &7 7 &7 & S1Tee feaged o] s 57
Options:

1. SEak

2. ® T

z ®

4 % FoEH

=

Question Number : 18 Question Id : 25498910846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
FaimiET # @ &9 a7 owew st e & g1 a0 e w0 &1 argafd ST 27

Options:

1. % iy e e
2 ® T

3 ® ogEe




4 & ZTHFE

Question Number : 18 Question Id : 25498910846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What allows you to print on both sides of printer?

Options:

1. ® Paper swapping unit
2. % Toner

3. ® Fuser

4. ¥ Duplexer

Question Number : 19 Question Id : 25498911090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is NOT an advantage of Inkjet printer?

Options:

1. % Cormpact size

2. % Low cost

3. % Easier to replace cartridge
4 % Poor quality irmage

Question Number : 19 Question Id : 25498911090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

o o & i sae Ty @7 A T 8
Options:

1. % Hieer smen

2. % HH AN

3. ® o d2eHT ATEHE

4 T UET B E

Question Number : 20 Question Id : 25498913352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fecovering the file baclk from comprassion method iS5 knowrl as

Options:
1. * uninstalling

2. ¥ decompression
3. ¥ enhancerent

4 * contrast

Question Number : 20 Question Id : 25498913352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AU ) Tefer & e @1 e YAuty Fer

Options:

1. ¥ smEeatia

2, ¥ ETEAiaE (EETE)
3. ¥ g



4. ® W

Question Number : 21 Question Id : 25498913766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
_______ Tt ST O T s e o ol U TR T T BT g oA g SIS & TEaT gl

Options:
1. * RreT fEhmam

2. ¥ FEeEd (i)
3. ® U (T TS A S)
4 % IIEe (FECHE )

Question Number : 21 Question Id : 25498913766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

______ is a technique for transforming information on a computer in such a way that it becomes unreadable,
Options:

1. ® Decryption

2. ¥ Encryption

3. % Atormnization

4 # Custormization

Question Number : 22 Question Id : 2549896293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T # & 99 A7 Joad S TR AT (linear topology ) 3 & 3 ST ST 27
Options:

1. ® wr iat

o % Tl AT

3 ¥ g| TR

4 % 09 TIHATAT

Question Number : 22 Question Id : 2549896293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following network topologies is known as linear topology™?

Options:

1. ® Star topology

= % Circular topology
3. ¥ Bus topology

4. % Mesh topology

Question Number : 23 Question Id : 2549897331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which file format is used to save Project file?

Options:

1. % prjf
= ¥ prj
3. % proj



4 % prf

Question Number : 23 Question Id : 2549897331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Traide IEe B Hea o o1 B & HIEe BIHS T JUAT 25T A1a7 57

Options:

1. % pryf
Z ¥ orj
3. % proj
4. % prf

Question Number : 24 Question Id : 2549898189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ T WO & o o o WU T STt d THS U | 3 SIgHTd FaT JEeT AR o T 51 ST & T

Options:

1. % o=

2. % gitererasT
3. ¥ eI
4. ® AR

Question Number : 24 Question Id : 2549898189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ i5 a program installed without a user's consent or knowledge during the installation of another program.

Options:

1. % Mail

= % Application
3. ¥ Adwmare

4. % Antivirus

Question Number : 25 Question Id : 2549898208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
_______ USErs ITay encounter bormb errors when operating the computer.

Options:

1. ¥ Apple Macintosh
2. % Android

3. #® lnix

4 % Windows

Question Number : 25 Question Id : 2549898208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
_______ TAE I FET U HIH F GH sl R (Bornb Error) @7 STHAT FT U2 T )

Options:
1. e BfeFe T (Apple Macintosh)
2. % UZEE (Android)

3. % e (Unix)




4 # EHz= windows)

Question Number : 26 Question Id : 2549898355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
%ﬁzﬁvwm(ﬁm T Tt T o AT 5 o Thaeedt @ Tt v o TR A T A &, e vt o R ag o e

Options:

1. ® fZa (Debug)

2. % g (Compile)
3. ¥ g7 [Boot)

4. % FiE (Load)

Question Number : 26 Question Id : 2549898355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CPU pins are reset and registers are set to SpECifiC value is a condition for which processy

Options:

1. # Debug
2. ® Compile
2. ¥ Boot

4 % Load

Question Number : 27 Question Id : 25498913351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
_______ is the process of digitizing the amplitudes of image intensity values.

Options:

1. % Cuantization
= % Encoding

3. % Sampling

4. % Packetizing

Question Number : 27 Question Id : 25498913351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

_______ T d a1 AT & ATATHT T TS TeTe e o 0T &l
Options:

1. & Fri=deta (WA )

2. % aEiET

3. % Jofe

4. ¥ TFeEran

Question Number : 28 Question Id : 2549899424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AT AT W witE e ot AT g

Options:

1. % okl wid e |
2 % sEguid e
3  gEuR e i



4 % guof uid foe #

Question Number : 28 Question Id : 2549899424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Laser jet speed 15 measured in:

Options:

1. % lines per rminute
2. % words per rminute
2. ¥ pages per minute

4. % glphabets per rminute

Question Number : 29 Question Id : 25498910798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
First Dot-matriz printer was created by

Options:

1. % HF

2. % Canon
3. ¥ DEC

4 % Intel

Question Number : 29 Question Id : 25498910798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
5T E1e Hieerd et ey gy a=Ta 2T 17

Options:
1. # HP

2. % Zanon
3. % DEC
4. % Intel

Question Number : 30 Question Id : 25498918428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If vou want to print the pages quickly, then which of the following printers is appropriate?
Options:

1. % Dot Matrix Printer

2. % Character printer

2. % Photo printer

4 ¥ Laser printer

Question Number : 30 Question Id : 25498918428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

ot ST e g @1 o ot & giod (e wear agd & af g oy T o @ e ar ey 3o g
Options:

1. % =Tc #feaq ew

o, ® ey e

3 % e




4. ¥ T et

Question Number : 31 Question Id : 2549896197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AT T 1ol & Seq /A mml%]

Options:
1. ®# FTF

2. ¥ HTTFP
3. % WBC
4. % MTP

Question Number : 31 Question Id : 2549896197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TN 1ses Protocol,

Options:
1. ® FTF

2. ¥ HTTP
3. % WEBC
4 % MTP

Question Number : 32 Question Id : 2549896199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A ST HIAT ______ G

Options:

1. ® giera oa

2. % gelfdza A

3 TR i
4 & gHido oe

Question Number : 32 Question Id : 2549896199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
E-mail stands for:

Options:

1. % English mail
2. % Electric rmail
2. ¥ Electronic mail

4 % FEssential mail

Question Number : 33 Question Id : 2549896273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The background of any Word document:

Options:
1. * is always white color.
2. % iz the color preset under the option mernu.

2. % iz always black colour



4 % can have any color you choose.

Question Number : 33 Question Id : 2549896273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Tt a2 ZTrgdc F7 S UTEE FET 5T 87
Options:

1. % gHaT A T FT AT &)

2. % e O H U T #TE1ET 8l

3. % THAT W TTFT AT 2]

4. e R o T T ot T 9 51 FdT )

Question Number : 34 Question Id : 2549896630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Desigried to create a particular look, a
formatting and font styles.

Options:
1. ¥ termplate

contains colour schermes, slide and title masters with custorn

2. ® presentation
2. % slide
4. % packground

Question Number : 34 Question Id : 2549896630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TF T U AT o a9 & 0 2T TR e B, # ween waeun oY Wiee AT & | 97 Ane, TAs oY S
TATT (TT5CH et e BT &)

Options:

1. ¢ e

2. ® e

3 % gAaEs

u

4 ® gFUTIE

Question Number : 35 Question Id : 2549896667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Word 2013 § = Sl o 91T BT B © GalHd g E, o T [wemes, wiee o Ty, oy e ____ I
Tems <4 1

Options:

1. # Review

2 % Insert
3. % Page layout
4 % Home

Question Number : 35 Question Id : 2549896667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In M5-Word 2013, the button that is related to working with a docurnent, such as clipboard, font and
paragraph, appears in the tab of ribborn.

Options:
1. % Review



= % Insert
% % Page layout
4 % Home

Question Number : 36 Question Id : 2549896681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A7 H ST AT we o g # T F F wT |y e 27

Options:

1. % g 3ot aehafte or o7 Teredt g advfte & @et ot w7t @ a8

2. % giFTer (@1 e o 37 SISt @ S0, ST 27 UEE - a7 8l

3 ® %ﬁﬁaﬂrﬂﬁaﬁuﬁ?aﬁmﬁqﬁtﬁ@mmmmmmq@@ﬂﬁm ¥ 2 T TUS T i T =T
AT
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Question Number : 36 Question Id : 2549896681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
which of the following is INCORRECT with regard to copying data in a cell?

Options:
1. ® You can copy an entry anywhere in the same worksheet or to a different worksheet.
2. % The copy operation involves use of two commands - copy and paste.

Z. % Copy and paste operation can be done either by using the edit menu or by using the buttons on the
standard toolbar.

4. % Data cannot be copied from one workshest to another.

Question Number : 37 Question Id : 2549897025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T U oo &1 S & o0, 31T PoweerPoint @

Options:
1. ® Design
2. % Slide show

T WX TS WHg T SO g

Z. % Page layout
4. ¥ Home

Question Number : 37 Question Id : 2549897025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To find the Paste Special option, you use the Clipboard group on the

Options:

1. ¥ Design

2. % slide show
= % Page layout
4. ¥ Home

tab of PowerFoint.

Question Number : 38 Question Id : 2549897374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What 15 the key combination to choose the save corrnrand in M5 Excel?

Options:



1. ¥ SHIFT+F11
2. % SHIFT+F12
3. ¥ SHIFT+F9
4. % SHIFT+F8

Question Number : 38 Question Id : 2549897374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Exccel H 6d WIS g & o] g1 St a7 27
Options:

1. % SHIFT+F11

= % SHIFT+F1Z2

3. ® SHIFT+F3

4. % SHIFT+F&2

Question Number : 39 Question Id : 2549898021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
XY chart is also kriown as:

Options:

1. % Bar chart

2. % Scatter chart
3. % Pie chart

4 % Stock chart

Question Number : 39 Question Id : 2549898021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
WY TE BT & = H T T AT )

Options:

1. % gear
2 T dn
3 % gqeran
4 ® wiEan

Question Number : 40 Question Id : 2549897108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Google & ______ BT U s R S Wi a3 Ty S T, W, 3D 39 ot 2D et B Sedt e
|

Options:

1. % Google+

2. ¥ Google apf

3. * Google AR ()
4, % Google #T

Question Number : 40 Question Id : 2549897108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

______ service of Google combines satellite imagery, maps, 2D terrain and 2D buildings to create a highly
realistic virtual globe,



Options:

1. % Google+

2. ¥ Google Earth
2. ® Google news
4. #® Google keep

Question Number : 41 Question Id : 2549897436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which option 15 used to remove the drop cap altogether and returned into normal text?

Options:

1. #¥ Dropped
= % Format
3. ® Edit

4. ¥ IMone

Question Number : 41 Question Id : 2549897436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ST &0 QiT 98 & 5eT o ol o JAW doree | a0 ST 3 Toiy 1 &1 Teered Ui & <maT &7

Options:

1. % Dropped
2. % Format
Z. % Edit

4 ¥ MNone

Question Number : 42 Question Id : 2549897445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ST e Y e U 4 B 2 oft A T & 3 i e i

Options:

1. % Gwd WEd 520
o o 2T AT

3. % gz

4 % FUTsacd

Question Number : 42 Question Id : 2549897445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ are used to control where each line of text starts and ends.

Options:

1. % First line Indents
2. ¥ Indent markers
2. % Hanging Indents
4. % Left Indents

Question Number : 43 Question Id : 2549897984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A (EHIM) T AT T | & &1 27

Options:



1. qRd T T AT A
2. ® ity famm

3. ® grdty e dw

4 ® AT wT o

Question Number : 43 Question Id : 2549897984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
EHIM is owred by which of the following?

Options:

1. ¥ Mational Payment Corporation of India
= % Corporation of India

3. % Reserve Bank of India

4. # SEI

Question Number : 44 Question Id : 2549898024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Ir1 M5 Excel, chart sirnilar to 2-D topographic maps, are surface charts viewed from abowve.

Options:

1. ¥ contour
2 oy

3. % pie

4. % bar

Question Number : 44 Question Id : 2549898024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ AT AT 2-D IR (o2 TR AT & GA gid &, MS Excel § 0 & T # & T 9Tl 9% dTe 51d 8

Options:
1. ¥ BT
= ®HY
3% O
4. % 9N

Question Number : 45 Question Id : 2549898382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What 15 the key combination to display the Macro dialog box to run a mmacro in M3 Excel?

Options:

1.9 ALTHFS

2. ® CTEL+ALT+F3
3. % CTRL+SHIFT_
4 % CTRL+F%

Question Number : 45 Question Id : 2549898382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Esccel H, Al et & o0 Aol ST 9190 1 A idd e 3 o it =i 47 87

Options:



1. % ALT+FS

2. % CTEL+ALT+F9
% % CTRL+SHIFT_
4. % CTEL+F3

Question Number : 46 Question Id : 25498910457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T T U W AT Oiad T AT S ST H G BT (Sentence case) 9 Tdwed @ Hee # 95l 8]

Options:

1. & U 19 o URel T4R 1 hitTe ®e- o Toid 31 317 AT TeRl I Al & ® U H Fig 4
2. % s @ 92 (Capital) STeRT @ aTET g F BT

3. % mfT gl T FUTATE Fe o e

ZIR I Tl o L] e = L R T e L L o LA e L L L

Question Number : 46 Question Id : 25498910457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Identify the staternent which is true with respect to the Sentence case option in the list of change case.

Options:

1. % To capitalise the first letter of a sentence and leave all other letters as lowercase
2. % To exclude capital letters from your text

% % To capitalise all of the letters

4 % To capitalize the first letter of each word and leave the other letters lowercase

Question Number : 47 Question Id : 25498913277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
M5 Excel # A s o o0 TomT v &7 4 AT 51T 57

Options:

1. % C

2. ¥ Visual Basic
% % Java

4 % C++

Question Number : 47 Question Id : 25498913277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The language used to create Macros in MS Excel is:

Options:

1. % ¢

2. ¥ Visual Basic
2. % Java

4 % C++

Question Number : 48 Question Id : 25498913293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Tiae Fae uw 2aT JUFA &, AT TS T S 2T TR armTgsta v # O SaT gl

Options:



1. % famfor (creation)
2. ¥ FOT (manipulation)
z ® fEdmE (deletion)
4 % i (ASSESSITent)

Question Number : 48 Question Id : 25498913293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FivctTable is a data tool found in data visualization programs such as spreadshects,

Options:

1. * creation

= % manipulation
3. % deletion

4 # zssessment

Question Number : 49 Question Id : 25498910488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
W g B T F o o, Mac @ o word 2016 #

Options:

1. % +P
2. ¥ 4+ Z
3% +C
4 ® 4V

Question Number : 49 Question Id : 25498910488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In word 2016 for Mac, to undo the case change press

Options:
1.%¥ +F
2. ¥ +7Z
3% +C
4. % 4+

Question Number : 50 Question Id : 25498910506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following is the page size of letter?

Options:

1. ¥ 85" H11"
2. ® ggrHi1z
3 * e H11

4 ® 85 K115

Question Number : 50 Question Id : 25498910506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Tt & & S 1aT 2t %7 ag1 0 915 87

Options:



1. ¥ 385 K11"
2. % 3oyl
3.% 3 11

4 % 35" ¥ 115"

Question Number : 51 Question Id : 25498918921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If vOou want to rmention an Indian currency in a docurmnent in Unicode, which key cormbination should be used?

Options:

1. ® CTEL + ESC

Z ¥ 20b3 + ALT + ¥
3% 19b9 + ALT + ¥
4. % 19b7 + ALT + ¥

Question Number : 51 Question Id : 25498918921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

At & G-t | ot geateT § 9 19 GgT Ud 1o AirHieid BT olgd & o Tord gralt Serierd a1 T e <rem?
Options:

1. # CTEL + E5C

2 ¥ 200h9 + ALT + X

3% 1909+ ALT + X

4. % 19b7 + ALT + X

Question Number : 52 Question Id : 25498918927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Howr will vou insert hyperlinks in vour txt docurnent?

Options:

1. ®* CTEL+H

Z % CTEL + SHIFT + Q&
3. ¥ CTRL + K

4. % CTEL + SHIFT +E

Question Number : 52 Question Id : 25498918927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T 31U _txct TEATaT H SISUTicier ol WIr g edr?

Options:
1. # CTEL +H

2. % CTEL + SHIFT +
3. ¥ CTRL + K
4. % CTEL + SHIFT +E

RELDIMNG COMPREHEMNSION
Section Id : 2549892553
Section Number : 2

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 2549892566
Question Shuffling Allowed : Yes

Question Id : 25498913982 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Foing Flaces

For millions of vears many kinds of animals, birds, fishes and insects have been seasonally moving along air,
land and water routes from colder to warmer areas in search of food and better weather. Their long journeys
aCross Ccontinents, mountains, deserts, rivers and 52as are greatly inpressive.

Corme winter and a large number of birds fly across the skies while wetlands, rivers, ponds and gardens
becorme dotted with different kinds of birds. Where do the wagtails, storks and waterfowls come from?

As temperatures go down, nearly a third of all birds of the northern hemisphere travel from their colder homes
to warmer regions of the south covering thousands of miles. When spring arrives, they return to their nesting
grounds. For the long distances they cover, birds build up enormous fat reserves before leaving, some actually
doubling their weight and converting fat into energy during flight.

More than 500 species of migratory birds are known to come to India every winter along the western Indus
and the Brahmaputra valley approact. The bar-headed geese fly across the Himalavas at a height of 8,000
meters. However, most birds fly below 20 meters at a speed of 30 to 100 km per hour. A number of birds also
migrate or move from one place to another within the country.

Eesides birds, elephants, bats, wolves, whales, dolphins and eels also move from place to place in search of

food or better weather conditions in different seasons. The butterfly can travel more than €,000 ki in a life
tirme. The Monarch butterfly flies from Canada to Mexico every year.

Among migratory fishes, eels are the most interesting. Spending their lives in rivers, they swim for miles into
the sea to lay eggs. The voung after hatching return to the river while the parents die in the sea.

Howr do anirmals follow particular routes across the skies, oceans and continents? Some are guided by the sun’
S positicn, using it as a cormpass. Animals that travel by night are directed by starlight and moonlight.
Scientists continue to study the fascinating phenomenon of animal migration.

Sub questions

Question Number : 53 Question Id : 25498913983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Why do different animals, birds, fish, or insects move from one place to another? Select the INCORRECT
option.

Options:

1. % Toawod extremely cold climates.

2. ® In search of food and water.

2. ¥ To satisfy their desire for visiting new places.

4. % To give birth to young ones.

Question Number : 54 Question Id : 25498913984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What makes the journey from one place 1o another awesorme? The animals, birds, insects and fish
1.trawel for thousands of miles every time.

2.cross different continents and oceans and mountains.

2 use their owmn fat reserves for the energy required.

Choose the CORRECT optiorn.

Options:

1. % 1and 2 are correct.
Z % 1and 3 are correct.
3. % Zand 3 are correct.

4 % 1 2and =2 are correct.

Question Number : 55 Question Id : 25498913985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What qualities are needed for this annual journey?

Options:

1. % Stamina, sense of direction and instinct.

2. ® The instinct to avoid enernies and other hazards.

2. % Ability to bear great physical hardships over a long period of time.
4. # The desire to cormplete the journey in spite of being tired.

Question Number : 56 Question Id : 25498913986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The eels are different from other migratory fishes. Rearrange the sentences given in JUMEBLED order to explain
by

1. The parents die in the sea.

2. The voung eels are hatched in the sea.

= Eels usually live in the rivers.

4 The adult eels mowve 1o the sea to lay eggs.

S.The voung eels swirm back to the rivers.

Options:

1. %123245
2 ¥ 34251
3. ®%51234

4 % 35412

Question Number : 57 Question Id : 25498913987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Haowr do birds decide on the route to follow to reach their destination?

Options:

1. ® They follow the course of the sun across the sky.

= % By the position of the sun during the day and star jmoonlight at night.
3. % They are guided by their owrl instincts.

4. % The gravitational pull of the earth keeps thern on track.

Question Id : 25498913982 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)



S =g ~ATAT

AT T F TR o e, Wail, WE o] oW s A6, sSgdd Aan § Jal | T8 5= T g1, i sl Ao 7 @ g/ =ed 13 gl
ARTEIT, RISt Ted, Al T el # I wiell AT sgd AT 51

TET AT T S T T # wall STaA H I § Serier et A, Fie, TTeTer ST s Ty v & gt & 98 gUgid § g9
i, AN 3 FATTET FET & AT 57

A T AT Sl ST 8, Fed) Tiersd & wedt aigrat # 9 T O T9RTE S0 52 U € gl Hie G g4 o TH e H a7l
el AT ST g, of SI0 TIiEe ! H ST ST B Fell O 9 Fe o T, TafT ST O R glE @ Uged S10e SR H WL AT ST
ST FX o &, FF qread § ST T FENAT Fd 5 S IS & SR a6 &1 S0 § uidiad wed gl

vaTeT aiEt @t SO0 & sfeer Wi aEemT ] o agge uTel 7 upa § 5T Al § 9Rd e F 6 ST ST 8 8,000 HiE
o I W BHTAT | g2 A O a1 59 35471 51 ST, SJWRTWED 100 ot uid o2 & i & 80 dler 3= ° 9=
TS § e Tl T o Il U I ¥ gE S 0T B

Wﬁm%m A2, e2m, STieipd 3 a0 T T2y Arant & 9 & 5 a7 57 Aray & 2@ # e
Tiadd wed g T Sttae T 7 6,000 Tt & arfirr & 9T 9 awdT 2 B faasT 5T 91 ST § Higew! 7% 92

WA
mﬁuﬂ%ﬁﬂ‘ﬁ, S e Terrren 21 Aot # ST Siie sd 19 #ed g, o ai2 O F oy ang § wE 6ie a9 31 g S A g
ST o &g, JaT AT TeraT aTad Aol H ST § St AT a1 B o] 69qg § 7 A gl

AT HTGA, FETERT S Agra it # e /T o7 uTe 3 @0 §7 55 9 i Tefd #1 U wuTe & &0 # ST #ed g
ICEAFCRAGE: mﬁwmﬁaﬁwaﬁﬁaﬁ%ﬁmﬂﬂmﬁﬁ%@%%
AT W WEITE ol SITehtieh EIeT T ST20a ST T B 3]

Sub questions

Question Number : 53 Question Id : 25498913983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TelTarey AATe, Uaft, ATerl T 12 U T € G S 0T F41 S §7 T Teihed @7 =i+ B
Options:

1. ® gEg s A g o= & o

2. % i 3 UTHT @1 G e o oy

3. ¥ AT FE O AT H ST ST W T W o T

4. ¥ qudEt #rag A Hw

Question Number : 54 Question Id : 25498913984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % 1 swemery

o % 1aRzagrd

Z % oaRzagrd

4 ¥ 1, 2aRzaRTE

Question Number : 55 Question Id : 25498913985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

ATEe 27T & Toy Tam ToTf T sraadaT gt 8
Options:

1. Tgai, T o7 g & T
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Question Number : 56 Question Id : 25498913986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
S ST VETHT AT & STFT 71 Seddiesd w0 | ST M7 St @1 §F. saaieT o a1id a5 Sueiar o @9 & 5 ol ardr
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Options:
1.% 12345

2. ¥ 34251
3.%$51234
4 % 35412

Question Number : 57 Question Id : 25498913987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
et ST T ek Wl o Toy /i o Tt e o 87

Options:
1. % o SRt 0 0 T T T @ uTeid #d 5

o o T o o o o & v an | TiEAT e
3. % T el FE & At gRT e g §
4. % ot & HeaTeRy A I o U TG

OUANTITATIVE AFTITULE
Section Id : 2549892554
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 2549892567
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
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Options:

1 ® 5
o ® 8
ST ] -11

4 3

Question Number : 58 Question Id : 25498914219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Three friends T, K and L jog around a cicoular stadium and complete one round in 12, 18 and 20 seconds respectively. Tn
how many minutes will all the three meet again ar the starting point?
Options:
1 *® 5

Question Number : 59 Question Id : 25498914244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Wwhen all the students in a school are made to stand in rows of 54, 20 such rows are formed. If the students
are rmade to stand in rows of 45, how many such rows will be formed?

Options:
1. % 25
o % 42
= ¥ 35
4 % 32

Question Number : 59 Question Id : 25498914244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

el ¥l o THT T I Uitk H 54 50 d0g QST a1 AT & 1 URHT 30 Uikl s [ 81 TR 0% Uik § 45 59 945 01 #1257
T A T T ol aaTe

Options:
1. % 25

o B 40
2 ¥ 26
4 #® g2



Question Number : 60 Question Id : 25498914178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Frateila o9 ¥ WARES (7) & FUR 97 #7903 A 07 g AE0? (A= 4fF Aa e
HIFITFT FaT 21

1200.11 =1 105.27% + 2360.85 =1 11.80% = 7 &1 21,99% + 1420.99

Options:

1. % 500

Z % 240

3. % 210

4. ¥ 550

Question Number : 60 Question Id : 25498914178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What approximate value will come in place of question mark (7) inl the given question? (You are not expected to
calculate the exact value

105 27%0f 120011 + 11 80% of 226085 = 21 99%of 7 + 142099
Options:
1. % 500

2. % 240
3. % 310
4. ¥ 550

Question Number : 61 Question Id : 25498914209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TrafeiET ST @7 samgde ereaae w¢ afte T o oy et a3 )

e il # 4 @6, S Aiet 8T 3 58 47 & Aot 8
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Options:

3
)

Question Number : 61 Question Id : 25498914209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Study the given information carefully to answer the questions that follow:

& Pasket contains 4 red, S blue and 3 green marbles.

If two marbles are drawn at randorm, what is the probability that both are red?
Options:

3
7

b
%
H
H

Question Number : 62 Question Id : 25498914291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The angles of a quadrilareral are in the ratio of 2 : 4 : 7 : 5. The smallest angle of the quadrilateral is equal to the
smallest angle of a triangle. One of the angles of the triangle is fwice the smallest angle of the triangle. What is the
second largest angle of the triangle?

Options:
1 *® 80°

= o 5{}5
= % 120°

4 % Cannot be determined
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1 ® SDO

> v 60°
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, « TeniE 7€ R ST wear §

Question Number : 63 Question Id : 25498914331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

5 ¥ ugel v 9RER F 4 weEEt FY A F AT o4 AT unl W=, 487 F FEwE @ € sl smen
Fmﬁwag#ﬁﬁm%‘.ﬁaﬂﬁrmmmgzﬁﬂ'l AT #aT & ofEn fr o= # #r F8
qﬁﬂﬁﬂﬁﬁgm?ﬁ?mﬁﬂﬁ?ﬂrﬁﬂiaﬁéﬁaﬁ?agﬁaﬂﬁmm??

Options:

| v 22 38

> % 11 98
- % 25 T
4 % 19 9§

Question Number : 63 Question Id : 25498914331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The sum of the ages of 4 members of & family 5 vears ago was 94 vears. Today, when the danghter has been marmed off
and replaced by a danghrer in law, the sum of their ages is 92. Assuming that there has been no other change in the
tamily structure and all the people are alive. what is the ditference in the age of the daughter and the danghrer-in-law?

Options:
ol .
1 & == years
> % 1l years
5 % 25 years
4 R 19 vears
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Options:

1. ¥ Heaven
2. % Hillock
2. % Hawker
4. % Hilt
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which of the following words will come second if all of therm are arranged alphabetically as in a dictionary?

Options:

1. ¥ Heaven
2. % Hillock
2. % Hawker

4 % Hilt
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select the option that is related to the third term in the same way as the second term is related to the first term.

Eice : Cocle ; Fish 7
Options:
1. % Marinate

2. ¥ Fry
3. % Sizzle

4 % Boil
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Study the following arrangement carefully and answer the question given below:

WIR%AJE#7MT219EHIASSFQSDGEUSE

If the order of the last fifteen elements is reversed, which of the following will be fifth to the right of twelfth
from the left end?

Options:
1.¥ 1
2. % 3
3% 3
4 % g
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Options:
1.¥ 1
2 %%
3% 3
4 % g
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Find out which of the letter-series follows the given rule:

MNurmber of letters skipped in between adjacent letters in the series is two.
Options:
1. ¥ MPSVYEE

2. % QSVYZICF
2% SVICGIN
4 % FCGKMPR
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Options:
1. ¥ MPSVYEE

2. % QSVYZICF
3% SVICGIN



4 % ZCGEMPR
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In the following pair, find two words related to the words already given- choose one word each from row I and
romy I

I: Charcoal ;; Coal - I1

[. (1)Fuel iZ)Fire (Z)Wood (4) Black
IT. (&) Ash (B) Coke  (C) Smmoke (D) Fire

Options:
1. % 2D
2% 14
2% 4C
4 ¥ 2B
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Options:
1. % 2D
2. 0% 14
3% 4C
4 ¥ 3B
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In each of the following, four words have been giver, out of which three are alike in some manner, while the
fourth one is different. Choose the odd one out.

Options:

1. % Kitten
2. % Lamb
2% Colt
4. ¥ Bitch
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what is the purpose of the Indian Erand Equity Foundation?

Options:

1. ¥ To promote inbound tourism

2. ¥ Tomake Made in India’ a label of quality
% % To organise trade fairs

4. % To provide venture capital to [T
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Options:

1. % Efcew AT
2. % T T Eee
3. ¥ BT g

4, ¥ FRA FIIEH
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Who was the first European to designate Arvans as a race?

Options:

1. % william Jones
2. % HH wilson

3. ¥ Max Muller

4. % General Cunningharm

Question Number : 72 Question Id : 2549895516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which one of the following is the principle structural elerments of a living cell?

Options:

1. % Cxygen
2. % Hydrogen
3. ¥ Carbon
4. % Nitrogen

Question Number : 72 Question Id : 2549895516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Options:

1. % affedr
2. % grEEid
3.V WE

4 % A
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Wwhich of the following is MNOT correctly matched?

Options:

1. # Anand Math - BEankim Chandra Chatterjee

2. ¥ India Wins Freedom - Surendranath Banerjee

3 ® Poverty and Un-EBritish Fule in [ndia - Dadalbhal Maoroji
4. % Unhappy India - Lala Lajpat Rai
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Match List -1 ﬂ'-a'IiI'lEI'EllS:I with List - II IfPlElCES of OCCLII']."EHCE]I and select the correct answer using the codes given
belomy the 1ist:

List -1 List - 11

A Gondwana coal 1. Newvyell

E. Lignite 2. Lohardagga
. Mineral oil 2. Talcher

L. Bauzxite 4 Kalol
Options:

1. ¥ 4-1B-3C-4D-2
2 % 4-1EB-3,C-2,D-4
3% A4-3B-1,C-2D-4
4 ¥ 4 -3 B-1,C-4D-2
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1. ¥ 4-1B-3C-4D-2
2 % 4-1EB-3,C-2,D-4
3% A4-3B-1,C-2D-4
4 ¥ 4 -3 B-1,C-4D-2
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Options:

1. ¢ FARTATS

2 ® mEaEm

z. % et e
4 % gEaimiadr
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Grana and stroma lamellae occur in:

Options:

1. % Chloroplast
Z % Ribosomes
2. % Golgi bodies
4. % Mitochondria

Mock
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SUITUTIET Carmps are supervised carnps conducted to entertain as well as equip students with various life skills
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overall development of a child and children hawve fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498927120 Question Type: TYPING TEST Display Question Number : Yes

According to science, the first seven seconds in which you meet somebody, is when you will make a first
impression. So, whether it is for an event, a business development meeting, or any other professional setting,
vou have to act very quickly in order to make the proper first impression. Here are some important tips. Smmile.
Facial expressions are very important when it comes to making a good first impression. Smiling is at the start
of this list for a good reason. Most of the people believe that a smiile is the most memorable feature after
meeting sormeone for the very first time. While smiling is important, you probably do not warnt to have a cheesy
and inauthentic grin plastered across your face. Srnile too widely and it is going to look like ¥ou are cowvering
up rervousness. You mught even Corne across as arrogant. 5o, srule in a natural way. WNot only does srmuling
make others feel more comfortable around wou, but it also decreases stress hormones that can negatively
impact your health. The right handshake. The handshale is accepted internationally as a professional sign of
politeness. & proper handshake can convey confidence. Wwhen you are meeting with people whorm you trust
ard have knowr for years, ask them how they feel after shaking hands, and how vour handshake feels in
relation to others they hawve experienced. Introductions. You want vour first seven seconds with somebody to
be productive. 5o, it 15 great to throw in a verbal introduction as you meet with people. If you hawve a hard time
rememnbering names, the intro is a great place to reinforce the name of the person you just met. Speak clearly.
Marny people hawve wonderful things to say but do not speak with any confidence. Unfortunately, that is a great
way to wind up getting overlooked. You want to be able to portray yourself in a positive light and give
wHOmever you are mesting a reason to listen to you, Make eye contact. Looking sormeone in the eye conveys
that you are confident and interested in what they have to say. But, make sure that you do not overdo it. If you
do not take breals now and again, your eye contact could be viewsd as staring. Use body language. One
interesting thing about human psychology is that most of us mirror the body language of someone we adrmire.
Think about how infectious a yawn is in a group of people. In fact, there is a neuron that affects the part of
the brain responsible for recognizing faces and reading facial expressions. This neuron causes the mirroring
reaction. So when another person sees you srmiling, the neuron fires and causes therm to smile in response.
Mirroring goes both ways. [f you pick up on and reflect back the non-verbal cues, it sends a non-verbal
message that you can actually feel what they are feeling. Research shows that people who experience the same
emotions are likely to experience rmutual trust, connection and understanding.
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